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Fit ¢
2021 FFE (A 3+2 Tlk) 2023-2024 ZEF—FHIKASLIIRS AR

FS HELR i 33 e | Tk &iE
1 21 4% 07 31 EBSR BHEX Baig
2 21 4% 07 31 =5 BHEX Baig
3 21 4% 07 31 XS BHEX Baig
4 214% 07 31 SKEGT BEX =15
5 21 4% 07 1t BREEE BEX =11
6 21 4% 07 3t BRIEES BEX =11
7 21 4% 07 3t TERRER BEX =11
8 21 4% 07 3t B&RRZA E&
9 21 4% 07 3t TR EN=]
10 21 4% 07 3t =B EN=]
11 21 4% 07 31 falRxan N
12 21 4% 07 3t ®|iEA N
13 21 4% 07 31 BR1ETT AEE&
14 21 4% 07 3t HZRE N
15 21 4% 07 31 HAE AE&
16 21 4% 07 3t RR EN=]
17 21 4% 07 3t T AE1&
18 21 4% 07 31 SKEBP N
19 21 4% 07 31 SKENIE AE&
20 21 4% 07 31 Sk AEE&
21 21 4% 08 3 =37 BEX =
22 21 4% 08 3t NI BEX =
23 21 4% 08 31 FEF BHEX =}
24 21 4% 08 31 = BHEX a8
25 21 4% 08 31 kA =} shne%
26 21 4% 08 BF RidiE =} SiE%E
27 21 4% 08 31 FEE = IR
28 21 4% 08 31 FiE & shne%
29 21 4% 08 31 F& & IR
30 21 4% 08 Bt b S = sns%
31 21 4% 08 3 XBRE BEX &
32 21 4% 08 Bf K, EN=LE
33 21 4% 09 31 FINERRAR BHEX Baig




34 21 4% 09 31 e BEX =

35 21 4% 09 31 (=r=s20 BEX =

36 21 4% 09 31 KR BEX =

37 21 4% 09 31 XUBR BEX =

38 21 4% 09 31 XUERRL BEX =

39 21 4% 09 BF ABE BHEX =15

40 21 4% 09 3t EESHE Sf— Baig

41 21 4% 09 31 SKBAE gi— aig

42 21 4% 09 31 = gi— K%

43 21 4% 09 31 BRE&LA N

44 21 4% 09 3 BEREAB =) SiE%
45 21 4% 09 31 IS = SinE%
46 21 4% 09 3t =) N

47 21 4% 09 31 HiEH AEHE

48 21 4% 09 3t HbE N

49 21 4% 09 31 2R N

50 21 4% 09 31 OiEs = shne%
51 21 4% 09 31 (EE=hed N

52 21 4% 09 Bt ABXfB AE&

53 21 4% 09 1t Hi55s AE1&

54 21 4% 09 3t 1) Baig shne%
55 21 4% 09 3t FHsiE Baig JIIf=
56 21 4% 09 31 IR N

57 21 4% 09 BT e RE

58 21 4% 09 31 e =) SinE%
59 21 4% 09 31 e =) IR
60 21 4% 09 3t 5K'ERH AE&

61 21 4% 09 31 KBTS = SinE%
62 21 4% 09 31 BKE N

63 21 4% 09 31 SKESER Baig shne%
64 21 4% 09 3t SKEE EN=]

65 21 4% 09 31 SKEERR Baig shne%
66 21 4% 09 31 BRI = EJIIf=
67 21 4% 11 31 RF BEX =

68 21 4% 11 1F Al )53 =

69 214 12 31 BAR gi— K&

70 21 % 12 3t X Sf— K&




71 214 12 31 XUfg BEX =

72 21 4% 12 3% F=ig Zi— =

73 21 4% 12 3F ZERR M Zr— =t

74 21 % 12 BF FEH f— 87

75 21 4% 12 3% EBF Zi— hE

76 2142 12 31 SKEERR gi— K%

77 21 4% 1231 EE n— V%

78 2142 12 31 REBRL gi— K%

79 2142 12 31 BT gi— K%

80 21 12 31 SKFH F— nE

81 21 4% 12 3% W Zr— =t

82 214 12 31 e N

83 21 4% 12 31 23 Baig shne%
84 21 % 12 3t J3 R N

85 2142 12 31 [HELT Baig shne%
86 2142 12 31 Eh=Es N

87 214 12 31 EE N

88 214 12 31 =EX = SinE%
89 214 12 31 =i = SinE%
90 21 4% 12 1t ZER AE1&

91 21 % 12 3t =S E S Baig shne%
92 21 % 12 31 FER =15 JIIf=
93 21 % 12 3t e R N

94 214 12 31 25 N

95 214 12 31 XUt = SinE%
96 214 12 31 XURsiE N

97 214 12 31 TSR, N

98 214 12 31 ENEE-ZON N

99 2142 12 31 RERL N

100 2142 12 31 =52 N

101 2142 12 31 N5 Baig shne%
102 2142 12 31 FEH N

103 214 12 31 BFE N

104 21 4% 12 3% ERZEN N

105 214 12 31 3] N

106 21 4% 12 1F G N

107 21 % 12 BF sK1E EN=LE




108 214 12 31 ENELT N

109 21 % 12 11 SRERNE AE&

110 214 12 31 RTAK N

111 21 4% 12 1 AP {R &

112 21 4% 12 3% FXHARE N

113 2142 12 31 *BED N

114 2142 12 31 Fepieik N

115 2142 12 31 B8 aig shine%
116 21 42 13 31 =R = SRIRRA
117 21 % 13 31 4R I% N

118 21 % 13 BF XU AL, = SiE%E
119 21 4% 13 BF Xlsase = sns%E
120 21 4% 13 31 BES =} SiE%E
121 21 4% 13 31 NS =} SiE%E
122 21 4% 13 31 EEF EN=LE

123 21 4% 13 31 F&F) EN=L

124 21 % 13 31 T N

125 21 4% 13 BF F—H = sns%E
126 21 4% 13 31 FEA & BSARIRRA
127 21 4% 13 31 FEE EN=L

128 21 4% 13 31 wLis EN=LE

129 21 42 13 31 SEIN = SRIRRA
130 21 4% 13 31 BRE =} SiE%E
131 21 4% 13 1F ERIHE A&

132 21 4% 13 31 =RIGT N

133 21 4% 13 31 G N

134 21 2 13 31 SRARHS EN=T

135 21 4% 13 31 SR = shne%
136 21 4% 13 31 EXBRIE =} SiE%E
137 21 42 13 31 Fi%re = SRIRRA
138 21 2 1431 AR gi— K&

139 21 2 1431 5KFR g— K&

140 21 % 143 T m— nE

141 21 % 14 3% e = =]
142 21 K% 14 11 BERER a =%
143 21 4% 14 31 BRZeAR = =E
144 21 4% 14 11 ki Bi& = uNEPS




145 21 K% 14 11 Bk PR =1 =%
146 21 % 14 31 &S = BSRRE
147 21 4% 14 3% =RFt = =E
148 21 % 14 3% eI = =E
149 21 4% 14 3% fef=x =i =]
150 21 4% 1431 = ) =15 =&
151 21 % 1431 FEKR =15 =&
152 21 4% 1431 RIZ =15 =
153 21 4% 1431 Z AR =15 = NEPS
154 21 K% 14 11 ZUERD a =%
155 21 4% 1431 =2 = =]
156 21 % 1431 XBEE =i =]
157 21 % 1431 XUfEIR =15 =&
158 21 4% 1431 X1BH =15 =
159 21 4% 1431 fE2& =15 =&
160 21 1431 FINR Baig =E
161 21 1431 BEFEAR = =]
162 21 4% 14 91 EEi = =E
163 21 4% 14 1F B = =%
164 21 1431 FHRkR Baig =E
165 21 4% 1431 AR =15 =&
166 21 1431 ZRh Baig =E
167 21 4% 1431 B&Af% =15 =&
168 21 % 1431 TRER = =]
169 21 4% 14 91 riEfn = =E
170 21 % 14 3% MR 1 =t =]
171 21 % 14 3% BREEN = =]
172 21 % 14 3% FRE =i =]
173 21 4% 1431 SKH =15 =&
174 21 4% 1431 Ul =15 =&
175 21 4% 1431 SIS =15 =&
176 21 % 1431 SKIEER =15 =&
177 21 4% 14 31 SKEST =1 =%
178 21 % 1431 KER =i =]
179 21 4% 14 31 XK = =E
180 21 % 1431 EXARIR = =%
181 21 4% 15 31 TERE gi— K&




182 21 % 1531 XU I Ft— 55

183 21 R 153 FIRR Ft— 55

184 21 R 153 [EBs Ft— 55

185 21 4% 15 3t SRIEEL Gi— K

186 21 4% 15 3t Fig S— K

187 21 4% 15 1t Xip=E H— K=

188 21 4% 15 1t FI H— &

189 21 % 15 31 PRI & =%
190 21 % 15 3t EHE & =%
191 21 R 153 &L a e
192 21 R 153 HER a e
193 21 R 1531 AR a =%
194 21 4% 15 1t ZhiEa & =E
195 21 % 15 3t FET & =%
196 21 % 15 3t R & =%
197 21 4% 15 1t xa & =E
198 21 R 153 XUE5# a e
199 21 R 153 XIER a e
200 21 R 153 BREIE a CE
201 21 % 15 3t F & =%
202 21 4% 15 1t FNSIR a =E
203 21 4% 15 1t FINER & =E
204 21 4% 15 1t FRE a =E
205 21 R 153 MER a e
206 21 R 153 GLES a e
207 21 R 153 YR a e
208 21 R 153 Bt a e
209 21 R 153 ERIE a e
210 21 % 15 3t oK RS & =%
211 21 4% 15 1t I a =E
212 21 4% 15 1t MiEin & =E
213 21 4% 15 1t M & =E
214 21 4% 16 Bt SKIKE fn— 757

215 214 16 3t BT H— 55

216 21 4% 16 3t M BEX a i
217 21 4% 16 3t i BEX a i
218 21 4% 16 1t &K H— K=




219 21 4% 16 31 BEARE BEX N

220 21 4% 16 31 BEER BEX N

221 21 4% 16 11 MEA Zi— KE

222 21 4% 16 f ZR&FH Zi— KE

223 21 4% 16 BF ZB7Y Z— KE

224 2142 16 31 B gi— K%

225 2142 16 31 HAERR gi— K&

226 2142 16 31 ZEAN gi— K%

227 21 4% 16 3t ZKIE BHEX N

228 21 4% 16 1 XUHRAR gi— KE

229 21 4% 16 1 EaEyis gi— KE

230 21 4% 16 31 NS BEX N

231 2142 16 31 E\G BHEX =15

232 2142 16 31 Fi& gi— K%

233 2142 16 31 ®EE BHEX N

234 2142 16 31 =% gi— K%

235 21 4% 16 1 WELY BEX N

236 21 4% 16 31 ERB gi— KE

237 21 4% 16 31 IRE gi— KE

238 2142 16 31 MEE gi— K%

239 2142 16 31 IEES gi— K&

240 21 17 31 =113 BHEX =}

241 21 17 31 RE BHEX =}

242 21 % 17 3t =& N

243 21 % 17 31 Z=EAR a AZ=E
244 21 % 17 3t XURF N

245 21 % 17 31 FHIE =} AESI
246 21 % 17 3t [EEERE N

247 214 18 31 EEF fi— V% SNE*®
248 21 4% 18 3t XURSIS Sf— K& =
249 2142 18 31 SKEFI7 gi— K&

250 21 4% 18 3t =5 Sf— K& =
251 21 4% 18 3t SE gi— =

252 21 4% 18 31 XUER gi— KE

253 21 4% 18 31 X BEX =

254 21 4% 18 31 FEIZE BEX = sns%
255 214 18 31 B3 BEX =15 SNE*E




256 21 4% 18 31 A& BEX =

257 21 4% 18 31 2 = SinE%
258 21 4% 18 31 ERZEAS BEX =

259 21 4% 18 31 =107 = SinE%
260 21 4% 18 31 AR = SinE%
261 2142 18 31 =g Baig shne%
262 2142 18 31 pUE=Y Baig shne%
263 2142 18 31 XURL aig shine%
264 2142 18 31 =EE Baig shne%
265 21 4% 18 31 XUF ik = SinE%
266 21 4% 18 31 SfEZ= =) SiE%
267 21 4% 18 BF OEH = sns%
268 21 4% 18 31 BEERK Baig shne%
269 2142 18 31 FHERE Baig shine%
270 2142 18 31 1 Baig shne%
271 2142 18 31 R Baig shne%
272 21 % 18 3 EETRE f— =) SiE%
273 21 % 18 1t TER AEE&

274 21 4% 18 1F S &

275 214 18 31 FEREK AEHE

276 21 4% 1931 wE g— K%

277 21 4% 1931 SKEFIL) gi— K&

278 21 42 1931 RS BHEX a8

279 21 4% 19 BF 1EHER = Y=
280 21 4% 19 31 EER & IS
281 21 4% 19 BF MBS = Y=
282 21 % 19 31 LD & Shs
283 21 4% 19 31 &M & IS
284 21 % 19 11 XIF&= =} SiE%E
285 21 4% 19 11 Pl =} SiE%E
286 21 4% 19 11 BREARH =} SiE%E
287 21 % 19 11 NEIE =} SiE%E
288 21 4% 19 31 RE5 & IS
289 21 4% 19 31 =E & Shs
290 21 4% 19 31 FMEF & Shs
291 21 4% 20 31 ES e gi— K&

292 21 4% 20 31 FLKLF gi— K&




293 21 4% 20 31 L5 g— K&

294 21 4% 20 31 BREM BEX =)

295 21 4% 20 31 BEIR = SinE%
296 21 4% 20 31 BXI%Z = SinE%
297 21 4% 20 31 FEAB = SinE%
298 21 4% 20 31 XI—E Baig shne%
299 21 4% 20 31 FENE Baig shne%
300 21 4% 20 31 BRiEET aig shine%
301 21 4% 20 31 N Baig shne%
302 21 4% 20 31 RS = SinE%
303 21 4% 20 31 S =) SiE%
304 21 4% 20 31 PRE= &

305 21 4% 20 1t =] N

306 21 4% 20 BF XI5 AEHE

307 21 4% 20 31 B N

308 21 4% 20 31 TRF N

309 21 4% 20 31 RIFIT &

310 21 4% 20 31 REETR N

311 21 4% 20 31 FIMERY N

312 21 4% 20 BF FNSTE AEHE

313 21 4% 20 31 22 N

314 21 4% 20 31 SL7) N

315 21 4% 20 31 SKERIE N

316 21 4% 20 31 KRE N

317 21 4% 20 1F SKAH &

318 21 4% 20 3t SKARC AE&

319 21 4% 18 1F FEER R N

320 21 4% 23 1 B BEX &

321 21 4% 23 31 FNE BHEX a8

322 21 4% 23 31 Sttt BHEX a8

323 21 4% 23 31 FI8 BHEX a8

324 21 4% 23 31 ®HE BHEX a8

325 21 4% 23 31 LIlysES BEX =

326 21 4% 23 1t KI5 BEx a

327 21 4% 23 1 FE BEX &

328 21 4% 23 1 (BRITE BEX &

329 21 4% 23 31 B BHEX a8




330 21 4% 23 31 BKE BEX =

331 21 4% 23 31 RIS BEX &

332 21 4% 23 31 FEEHER & IR
333 21 4% 23 31 1EIIR N

334 21 4% 23 1t TR & she%
335 21 4% 23 BF =ikiE EN=L

336 21 4% 23 31 INE a SNE%E
337 21 4% 23 BF AR EN=L

338 21 4% 23 BF =R EN=L

339 21 4% 23 BF X7 = Y=y
340 21 4% 23 1 HEIE & Shne%
341 21 4% 23 BF aKa = SiE%E
342 21 4% 23 BF B> EN=LE

343 21 4% 23 1F NS P SSE
344 21 4% 23 1t K HE AET

345 21 4% 23 BF SKAGHS EN=L

346 21 4% 23 1t EXE & shne%
347 21 4% 23 BF FBEksZ = SiE%E
348 21 4% 24 3% ZFEM BEX =

349 21 4% 24 11 ZI0iE BHEX =15

350 21 4% 24 31 ReT I BEX =15

351 21 4% 24 31 TR BEX =15

352 21 4% 24 31 JAREEE] BEX =15

353 21 4% 24 1F 0 )53 =

354 21 4% 24 31 == BEX =

355 21 4% 24 31 SRR BEX =)

356 21 4% 24 31 BB = shine%
357 21 4% 24 31 INFE = SinE%
358 21 4% 24 31 EHIRE EN=LE

359 21 4% 24 1t T EN=]

360 21 4% 24 31 XS Baig shne%
361 21 4% 24 31 X2 N

362 21 4% 24 31 XUF g = shine%
363 21 4% 24 BF BREH = sns%
364 21 4% 24 31 = = SinE%
365 21 4% 24 31 eI = SinE%
366 21 4% 24 31 RIR N




367 21 4% 24 31 wiE = SinE%
368 21 4% 24 31 BKBEPS pNEYE

369 21 4% 24 31 SKEKIH = SinE%
370 21 4% 24 BF oK = sns%
371 21 4% 24 3% A1 N

372 21 4% 24 31 [E1F =15 [




